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DRSS 1,022 4,214 | 2,121 | 2,093 | 50.8 | 49.7 | 101.3
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Al S N 27 103 51 52 | 49.5 | 50.5 98. 1
=B R M4 28 . 109 63 46 | 57.8 | 42.2 | 137.0
% R R N4 17 76 35 41 | 46.1 | 53.9 85.4
BEHEHEER /M4 21 89 44 45 | 49.4 | 50.6 97.8
BEANBER/M4A 27 113 - 69 54 | 52.2 | 47.8 109.3
BELtLE R /PPN 43 171 83 88 48.5 51.5 | 94.3
BARBRER MY 14 56 29 27 | 51.8 | 48.2 | 107.4
s hE R D4 17 60 28 82 | 46.7 | 53.3 87.5
w4+ B R 4 18 89 39 50 | 43.8 | 56.2 7840
B4+ —REBRNMN4S 12 46 24 22 52.2 47.8 109.1
Bt+_RERAMA 14 68 37 31 | 5444 | 45.6 | 119.4
BE+=BRMN4Y 13 49 20 29 40.8 59.2 69.0
S+HERM4E 33 144 | .76 68 | 52.8 | 47.2 | 111.8
BE+HEER/D4 27 120 62 58 | 51.7 | 48.3 | 106.9
B5+ARRMA 31 167 89 78 | 53.3 | 46.7 | 114.1
Ft+ELBRAMYE 13 63 31 32 49.2 50.8 19649
£+ABRAMAA| 21 9 | . 41 49 | 45.6 | 54.4 | 83.7
BT+ABERPDA 41 173 - 89 84 | 51.4 48.6 106.0
HF_t+BERA A 45 194 97 97 | 50,0 | 50.0 | 100.0
Bot+—REBR/DN4A 34 145 74 71 51.0 49.0 104.2
- t-BR/ 4 32 127 74 53 | 58.3 | 41.7 | 139.6
B_+=BRAGE 23 95 54 41 | 56.8 | 43.2 | 131.7
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MEBMB—+EH | o2 341 | - 171 170 | 50.1 | 49.9 | 100.6




BOP S A OB MY G

HF B AL/ #E Ho )

B P % B2 A B #H A g 5 "

Hh X bl -
< & it 5 & % Z  |((&Z-100)

= |

PLRBMUE - HANH | 105 393 194 199 | 49.4 | 50.6 97.5
PlRBME T4 83 328 167 161 | 50.9 | 49.1 | 103.7
AT &= KRR 332 1,803 893 810 | 49.5 | 50.5 98.1
8] — 4 7= B 35 191 97 94 50,8 | 49.2 103.2
#/ O &£ 7 B 33 197 99 98 | 50.3 | 49.7 | 101.0
w = & 7= B 34 186 88 98 | 47.3 5247 89.8
8w MW & 7= B 38 181 86 95 47.5 52.5 90.5
$ ® &£ = B 51 236 111 125 47.0 53.0 88.8
s/ AN 4 FF OB 43 221 119 102 | 53.8 4642 11647
s, L & 7= B 22 122 59 63 48.4 51.6 93,7
B/ N & = K 29 170 74 96 43.5 5645 77.1
5 Hh & & B 16 109 57 52 52.3 47.7 | 109.6
£ T £ = B 31 190 103 87 | 54,2 | 45.8 | 118.4
VR &= KA 376 1,875 958 914 51.2 48.8 104.8
B O — & 7= PBA 34 177 95 82 5347 | 4643 115.9
B = &£ &= B 34 129 68 61 5247 47.3 111.5
58 = &£ = B 32 146 77 69 | 52.7 | 47.3 111.6
B/ K £ = B 33 149 81 68 | 54.4 45.6 119.1
B H £ & B 37 197 96 101 48.7 51.3 95.0
BN £ P OB 38 196 107 89 | 54,6 45.4 | 120.2
2 L 4 = B 42 189 90 99 | 47.6 | 52.4 | 90.9
- S AN O S 33 173 - 87 86 5043 49,7 | 101.2
B O &£ P B 33 190 89 101 | 46.8 | 53.2 88.1
% 1+ £ = B 37 209 109 100 52.2 47.8 109.0
%5 + — & 7= B 22 117 59 58 | 50.4 49.6 101,7
iy 7%= KR 450 2,488 | 1,237 | 1,251 49.7 | 50.3 98.9
g — £ & B 48 284 133 151 46.8 53.2 88.1
| & & R 46 239 125 114 52.3 47.7 109.6
B = &£ = B 43 200 102 98 | 51.0 49.0 104.1
% g A& = PBA 47 232 109 123 47.0 53.0 | 88.6
B8 1 £ = B 21 118 52 66 44.1 | 5549 78.8
B/ AN B = OB 23 132 65 67 | 49.2 | 50.8 97.0
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s £ & = B 28 172 89 83 | 51.7 | 48.3 | 107.2
s/ N £ = B\ 35 198 107 91 | 54.0 | 46,0 | 117.6
B/ L & OB 34 217 104 113 | 47.9 | 52,1 92.0
£ 1+ £ ™= B 22 135 69 66 51.1 48.9 104.5
%/ 4+ — & = B 24 136 63 73 | 46.3 | 53.7 86.3
B+ - 4 =B 25 134 72 62 | 53.7 | 46,3 | 116.1
BT = & = OB 26 131 - 66 65 | 50.4 | 49.6 | 101.5
8 4 W oA = e 19 105 52 53 | 49.5 | 50.5 98,1
B+ HE 4 =R 9 55 29 26 | 52,7 | 47.3 | 111.5
41 1 &= KB - 266 1,820 | g92 628 | 52.4 | 47.6 | 110.2
w — 4 o= p 25 123 59 64 | 48.0 | 52.0 92.2
B Y SO /| 23 111 60 51 | 54.1 | 45.9 | 117.8
2 O=& PR 22 101 50 51 | 49.5 | 50.5 98.0
£ W & = B 28 113 58 55 | 51,3 48.7" | 105.5
5 F % 7= A 22 116 65 51 56,0 44.0 127.5
B A 4 = OB 23 126 63 63 50.0 50.0 100.0
B/ £ & = B 21 123 71 52 | 57.7 | 42.3 | 136.5
BN A& = B 18 77 -~ 38 39 49. 4 50.6 97.4
B £ = B 17 81 42 39 51.9 48.1 107.7
# 4 £ = p 23 105 56 49 | 53.3 | 46.7 | 114.3
B+ — 4 &= B 14 79 | 40 39 | 50.6 | 49.4 | 102.6
B+ =& = B 13 84 45 39 53.6 46.4 115, 4
BT+ =& =B 17 81 45 36 | 55,6 | 44.4 | 125.0
REPEERS 101 3,910 | 3,280 630 | 83.9 | 16.1 ! s520.6
B —BE P,y 18 342 260 82 | 76,0 | 24.0 | 317.1
Bk pAA 22 323 | 295 28 | 91,3 8.7 [1,053.6
B=HE I a 19 ., 356 259 97 | 72.8 | 27.2 | 267.0
BHEHESK P 2 262 188 74 | 71,8 | 28,2 | 254.1
BLEKRP, )G 20 323 268 55 | 83,0 | 17.0 | 487.3
R YV | 1 610 | - 501 109 | 82.1 | 17.9 | 459.6
BEtREREP A 4 - 266 229 37 | 8.1 | 13.9 | 618.9
BNREK PN 12 396 | 337 59 | 86,1 | 14.9 | 571.2
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944 /b 4A 1 308 291 17 94.5 5.5 11,711.8
o751 B+ 1 662 598 64 | 90.3 9.7 | 934.4
8207 HB+—/hd 1 62 54 8 | 87.1 12,9 675.0
AN 3 89 88 1 98.9 1.1 8,800,0
B -8k p g 2 43 43 — 1100.0 — —
O RN | 1 46 45 1 87.8 2.2 4,500,0
MR 8,701 19,964 | 9,829 10,135 | 49.2 | 50.8 97.0
o Y N 260 1,343 665 678 | 49.5 | 50.5 98.0
B E 4 & B 51 244 120 124 49.2 | 50.8 96.3
® K &£ & B 45 232 112 120 | 48.3 | 51.7 93.3
A x & ® B 41 211 102 109 48.3 51,7 93.6
B B &£ = B 48 227 113 114 | 49.8 | 50.2 99,1
& T % = B 20 114 55 59 48.2 | 51.8 93.2
IL T 4 = Bk 35 200 108 94 53.0 47,0 112,8
L ¥ % 7 B 20 115 57 58 | 49.6 | 50.4 98.3
ERETEKR 327 1,669 826 843 | 49.5 | 50.5 98.0
BE L & ™= B 18 83 40 43 | 48,2 | 51.8 93,0
W KT & &= 15 67 34 33 50,7 | 49.3 103,0
BoH 4 7= B\ 8 43 17 26 | 39.5 | 60.5 65.4
2 B £ ™= R 62 318 157 161 49,4 50.6 97,5
T & & ™ B 19 122 64 58 52,5 47,5 110,3
A % 7 g 32 152 73 79 48,0 52.0 92.4
M B E = OB 34 162 84 78 | 51.9 48,1 107,7
= o L | 31 157 79 78 50.3 49,7 101.3
B FH 4 ™ B 40 224 113 111 50,4 49,6 101.8
Lt B & ™= B 11 54 22 32 40.7 | 59.3 68.8
BXRE & 7 B 31 146 72 74 | 49.3 | 50.7 97,3
F 6k 4 = B 26 141 | 71 70 50,4 49,6 101.4
SREEEXR 237 1,222 621 601 50.8 ! 49.2 | 103.3
B o & ™= B 15 68 33 35 | 48,5 | 51.5 94.3
&, OE £ = B 8 48 32 16 | 66,7 | 33.3 | 200.0
BB k= B 27 157 75 82 | 47.8 | 52.2 91,5




:&F%{\Jakmﬁﬁ””wﬁu

ppg | B AR R O

Hh X 7

7 & it 5 X 5 T |[(&Z-100)
|

a0 = OpA 15 96 51 45 | 53.1 | 46.9 | 113.3
E o A& = R 24 116 66 50 56,9 43,1 132.0
& K B H 75 B 40 225 118 107 | 52,4 | 47.86 | 110.3
B W OE = B\ 24 115 49 66 | 42.6 | 57.4 7442
Hh B 85— = A 20 98 52 46 | 53.1 | 46.9 | 113.0
X & B & 7 B 22 100 49 51 49.0 | 51.0 96.1
0 o6 B 4 = B 22 96 45 51 46,9 53.1 88.2
SPE R e BA 20 103 51 52 49,5 50.5 98.1
&=k 153 821 384 437 46.8 53,2 87.9
B — 4 & KR 22 112 54 58 48,2 51.8 93.1
F£ = £ = B 24 118 53 65 44,9 55.1 81.5
N s 1 48 245 117 128 47.8 52.2 91.4
B/ A4 = pA 14 98 45 53 45,9 54,1 84.9
| OHE &£ = 22 127 58 69 | 45,7 | 54.3 84,1
B/ ONHE ™R 23 121 57 64 | 47.1 | 52.9 89.1
1813 &= X RL 179 1,019 477 542 46,8 53.2 88.0
B — £ = B 22 134 67 67 | 50.0 | 50.0 | 100.0
B/ = &= 26 137 66 71 48,2 51.8 93.0
B =& = 23 136 55 81 | 40.4 | 59.6 67.9
B/ OM 4 = o 20 118 52 86 | 44,1 | 55.9 78.8
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B4R 200 1,066 523 543 | 49.1 50.9 96.3
WP — &= 33 180 84 96 | 46,7 | 53.3 87.5
ZEF LB 34 192 96 96 | 50.0 | 50.0 | 100.0
¥F OE & = B 45 223 106 117 | 47.5 | 52.5 90.8
B OBE & = Q) 46 255 133 122 | 52,2 | 47.8 | 109.0
1 = Sl | 19 110 57 53 51,8 48.2 107.5
Wi F & A 23 106 47 59 44,3 | 55.7 79,7
BARExKXR 138 781 373 408 | 47.8 | 52.2 91.4
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F /& % 7 B\ 29 147 72 75 | 49.0 | 51.0 96.0
# O 4 ™ PBA 15 91 42 49 | 46.2 | 53.8 §5.7
B B OBA 31 163 81 82 | 49.7 | 50.5% 98,8
W A OBA 18 91 39 52 | 42.9 | 57.1 75.0
A T H = B 14 72 40 32 55.6 44,4 125.0
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oSk — A A 17 94 47 47 | 50.0 | 5040 100,0
4oL 4 — HE A 25 150 74 76 49,3 5047 97.4
BB AERN] 8 50 23 27 | 46.0 5440 85,2
KA A EERN| 12 58 27 31 | 46.6 | 53.4 87.1
F1 0% B A7 A 12 88 38 50 | 43.2 | 56.8 76.0
KB A2 BA 9 48 27 21 | 56.3 | 43.8 128.6
RRE=K 121 650 326 324 50.2 49,8 100.6
LR B — AR 19 95 47 48 | 49.5 | 50.5 97.9
ILRBE_HERA 22 116 53 63 4547 54.3 84.1
IERB=ZH>= 24 127 71 56 55.9 44,1 126.8
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AR E A =B 15 93 42 51 45.2 54.8 2e4
N TE M P RR 12 77 40 37 | 51.9 48.1 108.1
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& 1 3 I 5 x (%~100)
T &= KA 354 1,925 986 939 | 51.2 | 48.8 105.0
o = A 17 109 56 53 51.4 48.6 105.7
% = 4 o= B 15 97 47 50 4845 51.5 94,0
o = A o= BA 16 93 51 42 54,8 45.2 121.4
P A o= A 19 101 51 50 5045 49.5 102.0
& k7= B\ 2 113 64 49 56.6 43.4 130.6
&5 T8 —a4r=ph 24 133 60 73 45.1 54.9 82,2
RS AP 23 129 72 57 55.8 44,2 126.3
G —H = A 27 138 72 66 524 2 47.8 109.1
FroiE P 27 128 64 64 5040 50,0 100.0
B 25— BA 25 127 69 58 54.3 45,7 119.0
BRAAE A= BA 28 144 76 68 5248 47,2 111.8
17 B 47 B 17 90 45 45 50.0 50.0 100,0
B OF & ™= B 38 209 110 99 52.6 47,4 111.1
PRI — e A 17 105 49 56 46.7 53.3 87.5
PRI AR A 19 105 50 55 | 47.6 52.4 90.9
EHE®BN 20 104 50 54 48.1 51,9 92.6
g L 3 i 182 946 483 463 51.1 48.9 104.3
]| — 4 = B 20 97 48 49 49.5 50.5 98.0
8/ = 4 = B 17 92 43 49 46.7 53.3 87,8
F =4 = B 17 89 44 45 49.4 50,6 97.8
0 11 el N 17 83 39 44 47.0 53,0 88.6
B H A& =B 21 127 72 55 56.7 | 43.3 130.9
55 £ > B 17 92 48 44 5242 47.8 109.1
- el Sl el N 11 61 30 31 | 49.2 | 50.8 96.8
BN A = B 13 67 33 34 49.3 50,7 97.1
£ AE =B 22 101 50 51 49.5 50.5 98,0
B/ 1+ &£ = B 11 56 29 27 51.8 48.2 107.4
R el Yl 10 51 29 22 56.9 43,1 131.8
- plani oy ol 6 30 18 12 | 60.0 | 40.0 150, 0
3 ol F o i1 141 744 366 378 49.2 50.8 96.8
B — & = B 20 105 52 53 49.5 50.5 98,1




